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1. What are the five gas lows and their names?
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2. A sample of gas has a pressure of 128 kPa at 297 °C. To what Celsius temperature must the gas be
heated to double its pressure if there is no change in the volume of the gas? V= ccn
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3. What volume in liters does 1.67 g of N2 occupy at 22.0 °C and 101 kPa7
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4. A sample of carbon dioxide has a volume of 26.5 mL at 20.0 °C and 83 kPa. How many grams of CO2

are in the sample?
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5. Nitric acid is formed when NO2 is dissolved
100.0 cPa are needed to form 12.0 g of HNO3?
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in water. What volume of NO2 at 25.0 °C and
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6. Your friend missed the class lesson on Charles’ Law. Explain in wards and with the help of

diagram/graph why temperature units need to be converted into Kelvin from Celsius.
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7. Your some friend missed the class on Boyle’s Law. Explain in
diagram/graph why pressure units need to be converted to 1/P.
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